

$$a) (x-2) \cdot (x+5) = x^2 + 5x - 2x - 10 = \underline{x^2 + 3x - 10}$$

$$b) (x^2 - x - 1) \cdot (x-1) = x^3 - x^2 - x^2 + x - x + 1 \\ = \underline{x^3 - 2x^2 + 1}$$

$$c) \begin{array}{r} x^2 + 3x - 10 : (x+5) = \underline{x-2} \\ -x^2 - 5x \\ \hline -2x - 10 \\ +2x + 10 \\ \hline 0 \end{array}$$

Polynomdivision

$$d) \begin{array}{r} 2x^2 + 10x + 8 : (x+1) = \underline{2x+8} \\ -2x^2 - 2x \\ \hline 8x + 8 \\ -8x - 8 \\ \hline 0 \end{array}$$

$$e) (x^3 + 2x - 3) : (x-1) = (x^3 + 0x^2 + 2x - 3) : (x-1) = \underline{x^2 + x + 3}$$

$$\begin{array}{r} x^3 + 0x^2 + 2x - 3 \\ -x^3 + x^2 \\ \hline x^2 + 2x - 3 \\ -x^2 + x \\ \hline 3x - 3 \\ -3x + 3 \\ \hline 0 \end{array}$$

$$S. 16 | 2) a) f(x) = \frac{4}{2x+1}$$

$$D_f = \mathbb{R} \setminus \{-0,5\}$$

$$\lim_{x \rightarrow \pm\infty} \frac{4}{2x+1} = \lim_{x \rightarrow \pm\infty} \frac{\overset{\rightarrow 4}{4}}{\underset{\rightarrow \pm\infty}{x(2+\frac{1}{x})}} \left. \begin{array}{l} \left. \begin{array}{l} \rightarrow 4 \\ \rightarrow \pm\infty \end{array} \right\} \frac{4}{\pm\infty} \right. \\ \left. \begin{array}{l} \rightarrow 0 \\ \rightarrow 0 \end{array} \right\} \pm\infty \end{array} \right\} = 0$$

y = waagrecht
te Asymp-
totex = senkrecht
te Asymp-
tote

$$y = 0$$

$$x = -0,5$$

$$b) f(x) = \frac{1x-1}{1x+1}$$

$$D_f = \mathbb{R} \setminus \{-1\}$$

$$y = 1$$

$$x = -1$$